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MP BOARD CLASS 9 MATHS SAMPLE PAPER-SET 1

(TFUT)

(Hindi and English Version)

Time : 3 Hours] [Maximum Marks : 100

(i) ®f vy sifadd

(i) 999 &A% | } 5§ & agfe @R & 09 g

(iii) W97 Hath 6 R/ 26 # FA(=w famey Gy ¥

(iv) vva1 2q Fraffa ofw o9& amw sifdw &)

(v) 9 99903 ¥ W &1 wyA fXm R o Rl anavam & O
wora wi

Instructions :

(i) All questions are compulsory.

(i) Question Nos. 1 to 5§ arc objective type questions.

(1ii) Internal options are given in question Nos. 6 1o 26.

(iv) Marks alloted are indicated in front of cach question.

* {v) TThis question paper contains graph based question. Attach the graph,
where it is required.
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(<)
wmmm=
(i) qﬁ.&.={1.z,3}.n={2.3.¢}ﬁmua Frm—
(@) {1, 2, 3, 4) (b) {2, 3, 4)
(c) {2, 3} (d) ¢
(ii) Frafafen 3 & o3 @ TR T ¢ 2
(a) 4x? = 3x + 2
(b) x + 2./x
©w-u-p
(d) x +7
(iii) R fod wfwer 3y +4=1 8, @y FAw ¢ ¢
(a) 1 (b) -1
3
(=3 (d}_l-i
(iv) sin 45° F WA 3—
: 1
@3 ® 75
© 3 @ 0
2
(v) WO Y@ W A e 7 AW |-7) & @ g i
(a) 14 (D)2
@0 (d) 49
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(3}
Chooze amd write the correct chaice -
() HAa={1 2 3. B= {22 4] Then A s B will be :
(2 1. 2. 3. 4} (b {2, 3 4)
(e (= 3} ) ¢
(il Which of the follewing functions is nw a polynomial -

{a) 4x¥ - 3x + 2
b) x+ 23
() —ul - 5
d) x +7
(iif) If lincar equation 3y + 4 = 1, then the value of ¥ is:
(21 ) -1
(=) _; (d)
(W) The value of sin 45° & :
@3 ® 7
2 2
(c) —"Iij- (d) o
v) Distance benwesn rwo real numbers -7 and 7 on a mumber fine &5 -
(2) M4 (b) 14
@0 d) 49
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(4
. frw w6 g wifEe- 1nS=5
(i) “dfew vy’ & rafer m oTE L a
(i) ofz A 5 S5 8, N A b= e
BR) Moy — =l
(iv) Pt ey o offee go8 o f w3 T w W ... WA B
(v) Frgn o afisl & dtmer fes @ s, Wi B
Fill in the hianks :
(i) Mame of the mnhos of the book ~Valie Mathermatioes™ is ... B
fii) WA anvsel, then A= .
G
{ivl The concesion provided on recked prioe of = olject & called |
(%] The poinil of concurrence of medians of a wangle is called ... .-
3. it wnfl el : 1= 5=5
Eo o e e
I o (=) meif
@) 2 o el
(i) TEEgiE & P & a9 anu[
(iv) S99 i@ = e w5 () 11416
{v) wes=rars ey Safeaifrn
(f sfima dem
(g) FrmRE
T=110
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{3])
Match the colwmn :

Columm A’ Colima B
{ij) “arshmihir {n) Leclavai
@ 2 ) »pe
{3iz) Angk benveen disgonak of (c) 60®
& rhambus
{iv) Each angle of equilsieral mangle (4 31416
{v] Bhaskerscharya fe) Panch Siddhanika
{0 lrmrational number
{2} Trishatika
wemrarn fafen - I x5=%

i 9 = =fesn swdny 3 few @

i) "3 5, 0, 3 7 B b

Gi) s € Gala o @ deges w2 b

W}H#_mahﬁmmﬂ%ﬁﬁmﬂgﬁt%mm
B A

(v FdE By & hﬁtm@ﬁﬂﬁﬂﬂﬂhm
#

Write True or False :

{fy The DiEcoverer of Foro was Aryablita,

(i) Point (=5 0}, [es on x-axis.

(i) The nverse process of logarithms s colled Antilogarithms.

{iv) ﬁ'.imglﬂdrhm on same base and belwesn o par of paralie] lines, anc
equal in ares.

(v} The poinl of concurence of the angle hisectors of a trimgle & called

circumeentre of the rhangk.
ET.OL
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16]

5 U e § g fafem 1x5=5

(i) Yom wiwd W oe Fe v om dm @ 7

(i) Tion ™2 o @ oW T wma ol o d o R 9E W
b

(i) frpe & wifel 9 oftew ffem

fiv) Bl Wim S ABCD @ amm g i R wTE

L]
v T T 9 w8 § W sfied oo fafem

Write the amwer In one wonlisenlence :
{i) ‘Which ppe of lincar egualions & of the form 7

{ii}) Find Simple Imerest of T 300 for T yoars &t 5% raie of inlorest per
i,

{ii) Define Altihede of the irengle.
{iv) In parnllclogrem ABCD, show adjscent sides by dingram.

{v) ‘Write ssmple space, in the experimen of throwing a cubic die

Jﬂﬁﬂﬁmmm}mﬂdmm: 2

=

i

Write the definition of medin of a trimngle and concumrent lines.
e
(OR) .
b oo e & dwdn @ 82 wfe e
Show by disgmm thad, Angle hiseciors of a irengle pre concumment.

10
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{73

}"ff'rﬁgsﬂ & wfrern & fog @e-gm-ad (ASA) e fefam 2

Write Angle-Side- Anple (ASA) congruency crlenia, for conpruemee of two
iriangles.

STEET

(R}
@ towr ¥h & S A webem g3 & 7 alzSubjects.com

‘When the two live sepments and the two anples are conpoent 7

& wuEm Frg 4 o @ o0 g o mE e gt Bw @ S g
g thig #w & wyaw 3, fog Sifew f S Pogw wEoem @) 2o
In two right iriangles, one side and one acute anghe of 8 wanple ac oqual
lo comesponding side and acuie angle of the other riangle. Prove thal ithe
wo Fiangles are congruen.

AaET

(OR)
ﬁ#mﬁ#h&zaawmﬁgﬁiﬁﬂ#@mmm
E oo s0—

A AQC = A BOD

" D
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(8)

In ghen fignee bine sepment AB =nd CD bisent each oher a0 the pain 'O,
then prove that

AADC g 4 BOD

A

iC

)

= W e AT M GE w4 T T 9 @ (TR R ow NETEE

) 2
Consruem & square whose oo side is 4 om (Seps of constmaciion i not
comprulsoe §

ko1
MOR)

== =iz € =5 @ S
f‘rﬁ:mmpwuﬁuufpmudm

1o %% off = ses & S o W o 2
~ D c

A B
110
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9]

Shaw the axis of symmery ol folhowing lpunc
i LS

(03t
= W oW F B owmres oaE & ol fefaen

Write any bwo necessary conditbons lor the consiruction of reclangic.
1. o D=l 2 3 49%6) T A={L 4 6 3

W fog s (A = A

IFL=f0, %3 45 6 sod A= {1 4 6

Then prove that [A")' = A
mew
(OR}

iﬂtiihﬂﬁ#ﬁﬂﬂﬁﬁﬂ

1 1
ind twao ational mumbers bemwsen i mdi
oW @ oEh TE R PO wE anw 3
J2 38

in J3 or {3 which is bigger 7 Solve it
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{10

FrErET
(R

™ T ofiEmaEl e W safan

JE 4 6

\;5 — 1"

S pily by mticmmlising i denominsios

A5 +fe

=t

13 TE W T 4800 § wimE ovsses ¥ AR ud sPrae e owme #Em 3

A cow was bought fr T 4800 and sold for T 5800, Find the profit porcont.
e
(LD

w ETR W MAEA W T30 B oW 15% s W oAt ol §1 5w e
v1 fom v ==z R svm Feea TER EW A
Marked price of 0 bogk i T 3. This is sold m 15% discount. Find the
discount and the seling price of the ook,
4. € 4000 % 5% @fis wwx & @A 2 oW oW P 3 Sl 3
s Find amount of T 4000 at the =ie of 5% per year for 2 Years.

o
OR)

o mel ¥ = @w e fafaw
Write any three types of Bani Accounis.

T-110
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(ni)
I8,/ oft mrafrs wa ¢ o0 v ol W B W ooeR AH fa) =2x+ B
R, ), @, 8-2) T ) W AR T A 4
Il real fasction T B delined soch that 80 sny point @ i value is
) = 25 + A Find the volue F0) B2), M-2) and 63}
Ham
(OR)
Feeftafm fa=gsdl & wesifrs Fedwis of § Fefm alfam .
(2, 0} (—& &) 0, 3L (-3, -2)
Represem these poinis in Reclanguler coordinate sysiem -
(2. oh 4, &), (0, 3% 3. 2)

y’ﬁnw@wmmmzﬂiﬂmnmmﬂﬂm 4
oSz +2 AW P -lv 2+
Find sum of ghoen polynomials and Gind the degree of sam.
P-Slez+2amd -2l t+in+ ]

E L
(OR)

T P =2t —dr s 4 I gx)=2-2 W PN W o aH B
CLl o

pis) = =¥ - d4x + 4 and gix) = x — Z Muhiply. p{x) by q{x) md find the
degres of the product
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{2}
17. fisa wifog : 4
dlog5+=2logd=4
Prove that @
4logS+2log d =4

x W A= TR Sfam alE
lgz—logix=1)=kg 3
Find walwe of x il

lgx=log{z—1)=log 3

15. == d=w | ok S-fenf o @y @ =@ 35 amw K, vhym omm

Wit 4
On sdding two third of & number 1o the mumber, it gives sum 35 lind the
number

ey

OR)
A A Am 2:3:5 & A § B g & 4 el G mm
=
Theee mngles of 8 irmngle are inoratio 2 : 3: 5. Find the measure of all iheee
mngles.

19. m‘huua-%, #t ¥ S sin 8, cos B 4

12
If twn @ = "_,.—Thu. find sin 8, cos 8.

(ORY
firm wifEm -

sln &0° coa 3% + coy 60 sln 3 = gin #*

T-110
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(1)
Prove fhat 1
£in 60% cog 30° + ogu 60° 5in 30 = sin HO°

T T e frem 4 B9, pus sk woewa # oo W
Radius of a circle is 4 cm. Constroct o regular hexagon Sircumscribing the
circle.

Fam

{OR]
Wi WA ABCD # tan W Pl freef AC = 7 8l i feed
BD =% @&l §, 7% d= = ww o &
Constroct & parallelogrem ABCD in which diagonal AC= T cm. and desgonsl
{‘p]]-icm_.i’ﬁnmghbdmmlhdhgmﬁsii:!‘_
2y T v R R A W 4 ¥ e 3R W ek

pra- 4

Find the probability of geting & number greater than 4, by throwing & cubic
die

o

(OR)
F fors &t 0% BN I30WH T W1 @ %6 OF W W ose W afsm
e =i
Find the probakility of gening stlcast one ‘Tail", in the expedment of tossing

o coins simyitansously.

“H+@_1ﬂ,-:imm.ﬂmmﬂﬁm 5
ﬁmi},:ﬂ.ﬁ.-:t‘-}--anﬂfndlhtnmiﬂd:n
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(1d]
o
(R

uf P T R A e et Nis ta s 3 (a1 @ i B
e 7

Foe wha value of "a, Ix® + mad + 1z + 0 + 3, is exscily adiviildc by
2z — 1) 7

ook e ¥ w9 g W N g e el e gEwr owim oo
o wm o R s oWy @30 d oW g R A o e W
Eo o] -
A ree broke due 1o air. Upper pant of the wee wuched the pround o 30°,
m a poini which is 30 m. sway rom the food of the tnoe. Find the hasgll off
the Fce

Fam

[ OFt)
T WA W TEw w Wi =xEwm oo i e @ orwes wier 300 =
7w #, =t dilan = S 30 . #, @ b @ oofee wd gh oW

The angle of elevation of the 1op of & woer 1o & man danding on noed is
30T, If the height of the jower s 3 m Find the diswmnes of the man rom

ihe Lower

T 1R800 W 10% =ifE = ol T 8 Rl mom e & R el s
T a7 & W wum afe WA A 5
The compound inenest of T 1800 m the rate of 0% annual for some Gme
is T ATH Find the tme penod

ey
(DR
s w4 = gt Tw AW oo T ko0 oo o I s e
B TR gEACT W i wawd geEeT I fed s oW Bord 8 &5 s

TH 10% w1 =ra b

1o
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{15]

A carpomer medc 8 sofeset with construction cost of T 4800, He sold itio
a shopkeeper et 15% profit Al what price should the shophesper =11 it to
A cusiemer 1o can 10% profin 7

Zﬁ.-”!him:
7 o A R A A e B @ s Em s
Prove that :
If dingmnals of a8 Paallelogram are oqual, then ® &5 a rectangle.
e
(OR)
e Ry . FeE o s koo fepl = e @ B owe
& =f @m

Prowe that & quadrilaterel forrned by joining mid-pants of the sides of &

sjuare is also 8 squarc.

z}%mimﬂi n}mﬁmﬂm!.ﬁmtmm
A 10-10 WY A Wi S I Mo SRl T HeE st S
g 5
19, 27, 40, 3 33, 41, 18, & M, 3, 23, 49, 16 36, 14, 23, 49, % 15 23 10,
37, M, 13, I8, 29, 11, 6, 3% 38,
Murks obtained by 30 students in an examinatron are as follows. From given
mirks make ‘frequency Bble' and ‘cumulative frequency table’ by taking
classes of size 10-10.
19, 27, 40, 3, 33, 41, 18, & 20, 3, 23, 49, 16. 36 14, 23, 49, 9, 35, 23, 10,
A7, 14, 12, 18 29, 11, &, 39, 38,
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{18)
AE
TORY
e v A wE ool K 0 Tl T sose FegEr @R s
e gt
o | e |45. 155 | 155-168] 165175 175-185 | 165195 | 195-206
W A [ 8 12 i | 13 10
Marks ahiomed by M ssmbms of class 09 of aschool ore 2 Tollows, Make
its st oqura,
Marks 145-158] 155-165 | 165175 1 75-185] 1H5-195] 195-205
Mo of
[ ] 2 11 13 1n
Slodenta
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